P BE T 4X100mR

(LT —LFEE — 54 LL—2)

148
[L—y 21— 3L—> 4L—
137 AV 141 (L 134 B 135 A
i Bk AL Bk i Bk AL Bk
01 |JI|%F g 3 00 [ sl 2 20 [HFE s 3 00 [ F EH 2
03 |dblif  vE5n 3 55 |F4 HIK 3 25 |[IN4E sEME 3 96 Hilfs B4 2
06 /vy FEE 3 63 | HE— 3 52 | E 2 01 BA FHK 2
14 |[#256 BERB] | 3 66 KiF FHE 3 54 Ak K& 2 97 HY ABth 2
50 |ARFH K 2 55 miH  fEE 2 03 |FE#x 1— 2
53 | KH ik 2 56 [fnE BR 2 06 |7k FEAGSES | 2
[ it | [ it | JIE &l [ = |
5L—> 6L —> TL—y 8L —>
130 T 136 | H R 150 H BB 128 =
i Bk AL Bk i Bk AL Bk
50 [BRA 3 17 [k E CHF 3 05 | KBF #IKER | 2 27 |t #HE 3
52 [FEAR M 3 34 R HUE 3 07 [fAH WM& 2 32 |HZE Hkt 3
56 LI PEE 3 14 | il 3 08 /M BE— 2 35 | IUA FE 3
51 [BR JHE 3 21 |[JFFK stk 3 314K EA 3 36 |17k Ho 3
31 2N HiEk | 2 48 [fRK  K¥ 2 32 BB BB 3 37 A= M 3
58 JbiE  PEH 3 58 R TEE 3 40 |[FRH  FEA 3
e | E | [EE [AEEA FE
248
21— 3L—> 4L— 5L—>
144 =N 145 RIEE 138 e 133 AR
i Bk AL Bk i Bk AL Bk
21 M R 3 40 |/ KR 3 01 |fMiy HsE 3 45 VR E5w 2
22 B {3z 3 41 [BOK R 3 02 /N KA 3 21 [dby B 3
24 BB BEK 3 42 | 6% AR 3 04 AT BHE 3 26 FEF  pEsk 3
32 MR KRR | 2 44 |[FEE  BIE 3 17 &1 JRKH| 2 20 JINH R 3
38 mam HE 2 62 [N REH 2 18 |faJt #EE 2 24 | BKRS Ho 3
0 )IIE vF] 2 63 | KEF  JEH 2 20 | K4y EHE 3 29 WMk STA 3
[ it | [ it | JIE &l [ = |
6L —> TL—y 8L —>
129 KAk 142 A 151 R
i Bk AL Bk i Bk
18 [ FLf B 3 11 gEn B3 3 00 \Mh=pt Msk | 2
30 = AR 3 19 &R R 3 01 |3ffn  [EOME 2
12 | & KRR | 3 20 AR #OKER | 3 05 | =B sk 2
27 [JIA  fdtfi 3 26 |pkks 2 3 93 IR K 3
YRE PN 2 32 | EfE K 3 94 [P BEKER | 3
52 ZHH JEKE | 2 95 ¥ AHY 3
JIES &l JIES Gl JIES Gl




38

21— 3L—> 4L— 5L—>
143 e 2. 140 2 153 SIS 132 FH [
i Bk AL Bk i Bk AL Bk
03 i ZEniA 3 43 |POA E 3 85 |3LAE  Efst 3 30 (L HEFH 2
52 [gTil ek 2 35 | = #hk 3 89 |FFJ: ke 3 12 'BK #iK 3
58 | K& =ik 2 39 [t B 3 90 A K 3 18 A KBS 3
59 KN & 2 55 fhEF T 2 96 [FAF  f 3 14 | K 3
63 [HT  7=H 2 46 | B 2 99 [FHN HEXE 2
64 |AKS Al | 2 50 |[BOF At | 2
[ it | [ it | JIE &l [ =
6L —> TL—y 8L —>
127 75 B 147 BE e Bt 131 b i
i Bk il Bk i Bk
24 |HHA #K 3 11|kl #wE 3 82 |5 ] 3
30 IR FHKRER | 3 12 &l /NREE | 3 86 |k FHEE 3
42 | KF HEY 2 13 5+ BFA 3 94 |KEIL fOEE 3
43 ik TE 2 17 | B2 3 84 |WEIM] EF 3
47 |SRIE AN 2 19 |3 #|K 3 80 |[MMH FH 3
49 |JIIH X 2 21 |4 H— 3 02 \FE BB 2
[Ei ] [ il [ i




